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[EARNING GOAL

® T can describe the reflections tha
figure onto itself



13,1 BACK TO THE START

Here is a segment AB: If you translate the segment up 5 units
then down 5 units, it looks the same as it did originally.

1. What other rigid transformations create an image that fits
exactly over the original segment?

2. Are there any single rigid motions that do the same thing?
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ACTIVITY SYNTHESTS

[F A RIGID TRANSFORMATION EXISTS THAT TAKES A FIGURE ONTO ITSELF, THE FIGURE IS SALD T0
HAVE SYMMETRY . LINE SYMMETRY

REFLECTION SYMMETRY: SINGLE REFLECTION TAKES A FIGURE ONTO ITSELF

KOTATION SYMMETRY: A SINGLE ROTATION STRICTLY BETWEEN 0 AND 360 DEGREES TAKES A

FIGURE ONTO ITSELF O O}



13.2 SELFREFLECTION

Determine all the lines of symmetry for the shape your teacher assigns
you. Create a visual display about your shape. Include these parts in your
display:

Work with your partner to
e the name of your shape ’

complete your poster.

e the definition of your shape
e drawings of each line of symmetry
e a description in words of each line of symmetry

e one non-example in a different color (a description and drawing of a
reflection not over a line of symmetry)



ACTIVITY SYNTHESS

® |/ASTHERE ANYTHING ABOUT THE ORGANTZATION OF THE VISUAL DISPLAY THAT MADE THE TDEAS
ESPECTALLY CLEART WAS THERE ANYTHING ABOUT THE ORGANTZATION THAT COULD BE IMPROVED!

® /A THERE ANYTHING ABOUT THE WAY THE TDEAS ARE EXPLATNED THAT MADE THE TDEAS ESPECTALLY
CLEART WAS THERE ANYTHING ABOUT THE EXPLANATIONS THAT COULD BE IMPROVED!

® ARETHERE ANY LINES OF SYMMETRY THAT THE GROUP MISSED!
® ARE THERE ANY LINES OF SYMMETRY THAT DON'T WORK FOR ALL SHAPES OF THE GIVEN TYPE!



ACTIVITY SYNTHESTS

® /HICH SHAPES HAD THE FEWEST LINES OF SYMMETRY! WHICH HAD THE MOST!

@ ERE THERE ANY LINES THAT YOU THOUGHT WOULD BE LINES OF SYMMETRY,
BUT WHEN YOU TRIED TO REFLECT, THEY TURNED QUT NOT TO BE!

® DESCRIBE A SHAPE THAT WOULD HAVE NO LINES OF SYMMETRY



13.3 DIABOLIC DIAGONALS

Kiran thinks both diagonals of a kite are lines of
symmetry. Tyler thinks only 1 diagonal is a line of
symmetry. Who is correct? Explain how you know.

/> Work quietly, then compare with

your partuer.

\\/
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SHARE YOUR RESPONSES

Sample response: A line of symmetry reflects the kite onto itself. Reflections take
segments to congruent segments. A kite has two pairs of sides next to each other that are
congruent. So in kite ABCD, AB = AD and BC = DC. Using the diagonal AC as the line
of symmetry, the reflection takes side A B to side AD and side BC to side DC, which
works. But reflecting over the diagonal BD would try to take side AB to side CB, and
those sides are not necessarily congruent, so it's not necessarily a line of symmetry.




LESSON 3YNTHESIS

INEOF REFLECTION ALSO A LINE OF SYMME




Sketch shapes which have the following symmetries and
write a transformation statement for each one. Look at
the sentence frame in the definition of reflection in your
reference chart if you get stuck.

e exactly 1 line of symmetry
e atleast 2 lines of symmetry

e exactly 5 lines of symmetry
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